= a
N = 0l & AF & F Al A
012E1C 2OI& YEHSIH AISIZXIDH ~ ALEI= X
SN AEST D
o ASl=X S
el ALBISX AHIA B (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
NEEY 290,632,901 265,941,227 24,691,674
= 222,000,567
| 1,235,000
= 360,489
= 59,341,845
= 7,695,000
NEESIE-iE 11,527,818 9,472,830 2,054,988
= 9,710,424
= 11,000
= 1,806,394
MBIZX MBIA g4 11,289,622 9, 163,634 2,125,968
= 9,710,424
= 11,000
= 1,568, 198
2NAHEA 75 29 8,000 0 8,000
201 YEr2gy| 8,000 0 8,000
01 At 22| t] 8,000 0 8,000
OMSIZNZ0F 248 HHHA 29 8,000
NS AMBINEIA SXAY EX 10,814,892 8,720,784 2,094,108
= 9,710,424
= 1,104,468
308 X+XIEHHISOI & 10,814,892 8,720,784 2,094,108
= 9,710,424
= 1,104,468
01 MXISHBAEES 10,814,892 8,720,784 2,004,108
OXIHASINEIA SREAF (AL 10,814,892
= 9,710,424
= 1,104,468
SLAEENEOIE 2Y U MI=XRAE0 B2 297,350 259,350 38,000
E
307 21201 & 297,350 259,350 38,000
10 AFEI =X 2 X 297,350 259,350 38,000
OELMEI=XEAS 29 161,000
OMNSZTAE 22X M2 25 L 24 26,350
OAEI=XISl & A XIR 30,000
OEZZECHY] 29 80,000
MBIZTHBHE 29 47,250 47,250 0
= 11,000
= 36,250
307 21201 & 47,250 47,250 0
= 1,000
= 36,250
10 ALSI =X 2 & 47,250 47,250 0
OAEISX ZRHE 29 47,250




©OARRI =X
DARIEX SEXE
ARSI S X AHIA Bk

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- co=m s IR ° . (= (=3 =5 0:”/|l|,% Lsa
= 11,000
& 36,250
KN AM =X 25 100,000 80,000 20,000
301 et a3 20,000 0 20,000
12 J|EtE 4= 20,000 0 20,000
Oozz &2 =23 XA 20,000
308 AtXIEHM SOl 80,000 80,000 0
01 XM BLEES 80,000 80,000 0
OXgGAM=XE M 2 80,000
PNRSE ] 1= =P 22,130 56,250 A34,120
201 B2 HH| 10,780 15,400 AN4,620
01 AR 2teld| 10,780 15,400 24,620
OABIZTIAIE EOt9IA =% 10,780
203 YR =&ld| 11,350 40,850 A29,500
03 Al =X 2 =&Y 11,350 40,850 A 29,500
O=NEHIERFA 8,500
OMIEXLR2FX 2,850
MISX Al &5 2 K& 238,196 309, 196 271,000
MNEIZXAIE HEL 22 50,000 50,000 0
301 etz azgd 50,000 50,000 0
01 At 2E " =6l 3 50,000 50,000 0
OMIETAE M} 22 50,000
A SN2 JIsEH 153,000 225,500 AT2,500
403 KX EHHIS AH20[ & 153,000 225,500 AT2,500
01 AXIEH A2 EEX 153,000 225,500 AT2,500
OZTEMe=R& JIsEL 437,142,000 *35% 153,000
A EXNZ 225 HHM d2d 2ot 35,196 33,696 1,500
308 AtXIEHM S 01 35,196 33,696 1,500
01 IXNHHBAEES 35,196 33,696 1,500
OZEAME =X 2 SAMI MM
175,976,000 *20% 35,196
el & K& ,083,600 ,229,600 A 146,000
e 2 XI# ,083,600 ,229,600 A 146,000
SCH XA 481,500 567,500 A 86,000
307 QI2tol ™ 473,000 464,500 8,500
10 At = XX 473,000 464,500 8,500
O2&HM 2g 43t 363,000
OB2HHd 22 & ol 110,000




SN AEST D
Ha: 2Epe L X
ool 2E 2ol Y X (S5 &2)
_ _ HE T
SA-BH.C(BH) - HRAY - B O AF o8 il i~ o Hnz2
402 212t 20| 8,500 60,000 A51,500
01 AR R E 8,500 60,000 A51,500
OB AR JIS2Y 8,500
SEHAT X2 162,100 162,100 0
301 BB 4 83, 100 83, 100 0
01 AEI B E X 2513 83, 100 83, 100 0
ORNRBX 2 83, 100
307 21201 & 79,000 79,000 0
01 222 72| 75,000 75,000 0
OSRIX A2H M 75,000
10 AEI =X 2 X 4,000 4,000 0
OULBEH X 4,000
PEANL Y L J52Y 430,000 490,000 60,000
403 XHXI SRS XH2 0l & 430,000 490,000 60,000
01 XFXISHRIXHZ 2 & 430,000 490,000 60,000
OEEAML AYXH 400,000
OEEAA I8 30,000
BEZA W Y st 10,000 10,000 0
307 21201 & 10,000 10,000 0
LRNCEEES 10,000 10,000 0
OU2IAMZ =3 DS 10,000
SHIBEI LY 227,911,535 204,686,353 23,225,182
= 202,273,402
7 = 25,638, 133
IEMEEY TE U N 227,911,535 204,686,353 23,225,182
= 202,273,402
= 25,638, 133
IEMEBZIZOl N 192,216,306 172,804,336 19,411,970
= 170,858,939
= 21,357,367
308 X+XIEHHISOI & 192,216,306 172,804,336 19,411,970
= 70,858,939
= 21,357,367
01 XS HALBES 192,216,306 172,804,336 19,411,970
OJZMESEHIO X 192,216,306
=2 70,858,939
= 21,357,367
AS=TRLLI 4,585,287 4,062,801 522,486
= 4,001, 144
= 584, 143
308 X+XIEHHISOI & 4,585,287 4,062,801 522,486




A ARISX 0
ME: 2o EMEEE
ool JIZMEERE 1E U X8 (=CR-E
SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
= 4,001, 144
= 584,143
01 IXNHHBHEES 4,585,287 4,062,801 522,486
Oozs=2X XN 4,501,287
= 4,001,144
= 500, 143
ORIIIHE L =EZ2HE X&
280,000, 000& *30% 84,000
22 AL X 17,733,936 15,145,745 2,588, 191
= 15,763,502
& 1,970,434
308 KX SHHS0IA 17,733,936 15,045,745 2,688,191
= 15,763,502
& 1,970,434
01 IXNHHEMNEXES 17,733,936 15,045,745 2,688, 191
Ooxazz Mg K& 17,733,936
= 15,763,502
= 1,970,434
NEA2EHSS 2,798,495 2,344,300 454,195
= 2,296,403
= 502,092
308 KX SHHMSOIA 2,798,495 2,344,300 454,195
= 2,296,403
& 502,092
01 AIXSHHBMNEXES 2,798,495 2,344,300 454,195
OXNEX&de 2 2,788,495
= 2,296,403
= 492,092
OXNSXNEdE Jtssedst T2 03 10,000
NEASISHAE X 951,091 920,059 31,082
= 845,407
= 105,684
308 AtXICHM S 01 951,091 920,059 31,032
= 845,407
o= 105,684
01 IXHHBHEES 951,091 920,059 31,082
OXNEASZSMAE K& 951,091
= 845,407
& 105,684
KNAXEHESAL HRMAL 25,000 25,000 0
308 AtXIEHHM S 01 ™ 25,000 25,000 0
01 IXNHHMBAEES 25,000 25,000 0
OXNSXNH&EEH SAHL HRMA
125,000, 000& *20% 25,000
2258 Ues == 338 = A 1,436,655 678,863 757,792




SA: ARSI XD
Ha: 2OD|ZMBRE
Cel JIEZMERY 75 2 X (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
= 1,336,422
= 100,233
308 XX £HHI S 01 & 1,436,655 678,863 757,792
=2 1,336,422
= 100,233
01 A SHZASES 1,436,655 678,863 757,792
02253 Y= 22N HIXN 222N 1,436,655
=2 1,336,422
= 100,233
JPAIRVE € 20 A X 2 1,405,527 1,806,012 400,485
3 1,179,814
= 225,713
308 XXl £H ¥ S 01 & 1,405,527 1,806,012 400,485
2 1,179,814
= 225,713
01 X SHBASES 1,405,527 1,806,012 400,485
OIAZEE20IA X2 1,405,527
= 1,179,814
= 225,713
SYU=TAL 2SI 882,599 734,454 148, 145
=2 614,319
= 268,280
308 Xt XI £H 7 S 01 & 882,599 734,454 148, 145
= 614,319
= 268,280
01 KHXISHH B A2 ES 882,599 734,454 148, 145
Ol STAL 2SN 777,599
=2 544,319
= 233,280
OBl XA IS XL 105,000
=2 70,000
= 35,000
C2ME2Y 17,551 16,894 657
308 Xt Xl £H 7 S 01 & 17,551 16,894 657
0 KA SHIAEES 17,551 16,894 657
Ok2ol E29 XY 175,510,008 *10% 17,551
MEASEAMR MMM X2 8,328 8,328 0
308 Xt X EHHI S 01 & 8,328 8,328 0
01 KIXISHHI B A 2 XD 8,328 8,328 0
OS2l & L0l MEALSAR MMM
41,640, 0002 *20% 8,328
eI 4,732,581 5,205,089 A472,508
=2 4,612,410
= 120,171




SA: ABI=D
Yo 2P| EMERH
el JZMERE 1= W X (et &e)
- MEg
SN B SRABA) - MRAY - BES Off & 04 0l ot o HRZ2
308 XHXI BRI S 01 & 4,732,581 5,205,089 472,508
2 4,612,410
S 120,171
01 AXEHHESEXS 4,732,581 5,205,089 A472,508
OxASAHNE 2= golxe 1,081,534
= 961,363
< 120,171
OS2 goln 3,651,047
= 3,651,047
A2ISASEAEA 8223 21248 X 954,271 841,472 112,799
= 734,085
S 220,216
308 XA EHMISO0I & 954,271 841,472 112,799
= 734,055
= 220,216
01 MBS ELS 954,271 841,472 112,799
OMIIEXSSAMEA HERF 2 954,271
= 734,055
= 220,216
SEENNBALEY 2SS 125,174 93,000 32, 174
201 dEt= S| 27,540 0 27,540
01 At 22l 27,540 0 27,540
OAZEIAl SEDS S 29 27,540
308 AXIHMSOIA 97,634 93,000 4,634
01 AXEHHMESEXS 97,634 93,000 4,634
OSE=NNSAAY 29 N 97,634
M ESZZOY 2 38,734 0 38,734
= 30,987
< 7,747
308 AHXI&MISO0I A 38,734 0 38,734
= 30,987
= 7,747
01 MHAEHESELS 38,734 0 38,734
OMslxgozIY 2 38,734
2 30,987
== 7,747
UE=t= NSS! 26,340,571 26,426,020 A85,449
= 10,016,741
D) 1,235,000
= 349,489
= 7,044,341
= 7,695,000
OtssY Z2HE =& 26,340,571 26,426,020 A85,449
= 10,016,741
p) 1,235,000




A AR =X
g ots=sAsd

©o: OlS5Y ZEME X (=E L
- _ . NE
S HH O (3H) - NBAY - B2 Of) &F o8 e H D=2
= 349,489
& 7,044,341
£ 7,695,000
MEoty XIH 13,999,594 14,371,333 A371,739
= 1,289,241
| 1,235,000
& 3,780,353
£ 7,695,000
307 212t01 A 46,800 46,800 0
10 MBI S XIE= 46,800 46,800 0
O0ts=X&eEAd 22X HRMA 46,800
—Z2AD| 2 12,600
-8 I E X & A E 9,000
OlsE2sd=J|1& 25,200
308 XXM SOoIA 13,775,535 13,666,453 109,082
= 1,184,402
J| 1,235,000
= 3,661,133
£ 7,695,000
01 AXSHNBAEEZS 13,775,535 13,666,453 109,082
O AOts 2B Ex= K& 103,428
= 85,176
= 18,252
Oogdits s XA 561,000
= 462,000
& 99,000
oggrrg XA 24,480
= 20,160
& 4,320
OO0tsLE XAz XI& 489,600
= 403,200
== 86,400
O1=S=8H ots2s A& 310,106
= 213,866
& 96,240
O8s 22 A2
100, 0003 *40H » 1201 & *20% 9,600
o8l EZ2asd ks34 K& 7,695,000
£ 7,695,000
Oodst=E Otszaldl XA S 2,745,000
J| 1,235,000
T 1,510,000
OOts=XAIE 2981 XA
8,412,980, 000& *15% 1,261,947
OgA0ts N2 XA (XL0lY)
1,000,000& *70H *25% 17,500
O249AEIE XI& 100,000 *50H «12& «10% 6,000




A AR =X
g ots=sAsd

©o: OlS5Y ZEME X (Srel: &2
= PSP 2/ (3 SALY - HA2 OH dEE =2t
=/

Ol ESOts XA

120,000 800 « 12 »10% 115,200
OOtS=EXAE 22X MM
419,880, 000& *20% 83,976
OElA0ts XHERZ(FIH)
4,000, 000& *702H x30% 84,000
O&x0ts 2dYHGS 7= N
1,000,000& »70& »30% 21,000
OAlZ0ts MalXHEsS 8t X3
207,600,000 *30% 62,280
OAl&ots 2ItE=4 X&
30,000, 000 *2IH 2= *30% 18,000
O0l20ts dA=s K&
50,000,000 =5 All CH *30% 75,000
OO 20ts 2+AHl XI&
1,000 & 844 F 3652 x30% 92,418
403 XX SHHMSXH=0l & 177,259 658,080 A480,821
= 104,839
= 72,420
01 AXSHHX=ZE X 177,259 658,080 A480,821
OO0ts=XAIE JIsE2AY 157,259
= 104,839
= 52,420
OOts=XAIE JISsE2 A (FIt) 20,000
Stsgd X4 7,619,580 7,645,040 A25,460
= 5,363,800
< 2,255,780
307 212+01 A 130,000 130,000 0
= 130,000
10 A2l SRIE2X 130,000 130,000 0
OXdotsdE SN 2 130,000
= 130,000
308 AtXI&MISO0I A 7,489,580 7,515,040 A25,460
= 5,233,800
= 2,255,780
01 AIXEHHEMEELS 7,489,580 7,515,040 A25,460
OX<otsde 29 X 5,116,800
= 3,936,000
S 1,180,800
OX0otsdE 22 MR
120,000 *450&H 128 »20% 129,600
OX<otsdE Wbl XI&
1,000, 000& *2057H 2~ *50% 102,500
O0ts= XA K& 1,575,900
= 1,297,800
S 278,100
O0=20ts X& 997,400,000 *30% 299,220




SN
X XH .
S Tt

ok

NEE!
EEESS
Olssly T2

Im

RS- LT

22
J2

20
B
2

e o T o
Oos1n wEg4 X
200,000& 3,000 »30% 180,000
Ogoistss At AHESl CHEILE & X
178,000 *100H *30% 5,340
O0lga =M 82 X&
50,0003 #3270 2~ 122 *30% 5,760
OAlZ0ts bl XI&
100, 000& 182 *30% 5,460
ORES0 st= N&
5,000,000 46 % «30% 69,000
otd A Ael B 4,695,097 4,383,347 311,750
= 3,363,700
= 349,489
T 981,908
201 L2 59,500 60,000 A500
= 39,200
= 20,300
02 23244 59,500 60,000 A500
OJE =18 28 Ot 56,000
= 39,200
= 16,800
(OENCENE A2 Y 3,500
307 2I2toI ™ 1,076,827 1,070,577 6,250
= 24,500
= 349,489
= 702,838
10 At2IS X2 1,076,827 1,070,577 6,250
OltsEs =2 441,000
2 169,489
= 271,511
OoZao 242,600
=2 105,000
= 137,600
OJIEAEX 2 163,027
&2 75,000
= 88,027
O0tssli gsEs & u=s 18,300
OdlelxIZ2 AL Hi X 23,800
OElA0tsUa MW=l X& 13,700
OO0iglol2te AL =& 71,200
OREs0ts ZHu=E 9,100
OREs0ts HEn= 9,100
O020ts = nd 293 50,000
OgY - JIIERENs MelXISXZ A 35,000
= 24,500
& 10,500




SA ASI =X D
M OtS=XS
o9l OS5y TRHME XX (Sl &2)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
308 XHXIEHHI SO 3,558,770 3,252,770 306,000
= 3,300,000
= 258,770
NP EEENEES 3,568,770 3,252,770 306,000
OOS=XALYDESSHNYIA(SHAEE) N 3,300,000
= 3,300,000
OYYII B SYXIA (XL0IY)
40,000, 0002 *30% 2,000
OYYI|Z 22X HRHH
150, 0002 %2 * 122 +20% 720
ORI93 O{RI0IL #A XI¥
80,000, 0002 30% 24,000
O0A20IE 2FRHYY X
100, 0002 * 12024 x30% 3,600
O0A20tS ALATY X
30, 000 * 15024 *30% 1,350
OR250ts 2VMET2I XL
200, 00024 #1102 *50% 11,000
OANEYA0IS HHZEE XIS
100, 0002 *87021 x30% 26, 100
OBMELE2IY Xa
50,0002 *6, 0002 *30% 90,000
OBt H=BBSH KR 50,0008 %6,000% *30% 90,000
MUY P 26,300 26,300 0
307 212+0I & 12,800 12,800 0
SEEES 12,800 12,800 0
OOISEXAE BAR A4 12,800
308 XHXIEHHI S 0| 13,500 13,500 0
01 XISHBAEES 13,500 13,500 0
OXNHOISHE XL &3] X
100, 0002 %4501 x30% 13,500
WL ES (ABI=XT) 23,709,827 24,032,884 £323,057
TEPEE= 23,709,827 24,032,884 £323,057
22012 SEIH MBS 23,709,827 24,032,884 323,057
701 JIEISI AT &S 23,709,827 24,032,884 323,057
01 JIEtE T ES 23,709,827 24,032,884 £.323,057
SEEEVBIEEELBIRET 23,709,827
HHSY A (ASI =X D) 59,550 93,540 33,990
A (AIBI =X ) 59,550 93,540 33,990
[ CET 59,550 93,540 33,990
201 YEr2 Y| 28,500 42,000 A13,500
01 At 22|t 28,500 42,000 £13,500
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AT MEISX
A #AH2AAHI (A SR

Etel: D23 HI (A2 S A11) (98
_ = FSRE =
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ

OAtzl=X g2F2 28,500

202 O4H| 28,050 40,740 212,690

01 = LHAHI 28,050 40,740 A12,690
OAtal=X g2 28,050

203 2= 3,000 10,800 A7,800

04 EA2EHRFAH 3,000 4,200 A 1,200
OAtal = X1t 3,000
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